










Find the option which should replace (?)

MASTER = 6 
FREEDOM = 52
HERO = ?

A. 10
B. 15
C. 02
D. 25



Find the option which should replace (?)
( 12, 144 , 09 ) : ?    

(A) 4 , 16 , 08

(B) 7 , 49 , 19

(C) 6 , 36 , 09 
(D) 5 , 12 , 25



(A) 45

(B) 48 

(C) 51 
(D) 54

5 9 15

16 29 ?

49 89 147



Arrange the the in meaningful order :-

1. College / कॉलेज
2. Child / बच्चा
3. Salary / वेतन
4. School / सू्कल

5. Employment / रोज़गार
A- 3,5,2,4,1
B- 2,1,5,4,3
C- 2,1,3,5,4
D- 2,4,1,5,3 



(A) 9

(B) 5 

(C) 10 
(D) 21

? 13 49

9 17 69

13 11 59



Which of the following diagrams indicates the best
relation between Indians , Women and Advocate ?

A.

C. D.

B.



Find odd word from the given alternative.

दिए गए दिकल्प में से दिषम शब्द ज्ञात कीदिए |

(A) Dhaka
(B) Beijing 

(C) Baghdad

(D) Taka



Statement :

All 1 are 2. सभी 1, 2 हैं।

All 2 are 3 . सभी 2, 3 हैं।

Conclusions : 

(I) Some 2 are 3. कुछ 2 , 3 हैं।

(II) All 3 are 1. सभी 3, 1 हैं।

(A) If only conclusion I follows.

(B) If only conclusion II follows.

(C) If neither conclusion I nor II follows.

(D) If both conclusion I and II are follows.



Find number of triangle in the given figure ?
दी गई आकृतत में तिभुज की संख्या ज्ञात कीतजए?

(A) 20

(B) 18

(C) 17         

(D) 19 



In a Certain code WILD is written as 21 ,than find the code 
for ROAD ?
एक तनतितकोड में WILDकाकोड 21 तलखा गया है तो ROAD
काकोडक्या होगा ?

(1) 20
(2) 31
(3) 22
(4) 33



Find the option which should replace (?)

Pakistan: Islamabad :: Philippines : ?

(A) Lima

(B) Kigali

(C) Manila 
(D) Zagreb



Find the option which should replace (?)

PARK: ZKPI :: NORM : ?

(A) LMDJ

(B) LMNI 

(C) LNIJ 
(D) LMSJ



Find the option which should replace (?)

1, 10 , 28 , 91 , 370 , ?

(A) 1070

(B) 1850

(C) 1855 
(D) 1775



Find the option which should replace (?)

23: 25 :: 35 : ?

(A) 73

(B) 64 

(C) 25 
(D) 81



Statement : One should not sleep under a tree at night . 
Assumption :-
1- The falling leaves may spoil our clothes.
2- Trees give out CO2 at night which is injurious to health.

कथन: तकसी को रात में पेड़ के नीचे नही ं सोना चातहए।

कल्पना :-

1- तगरती हुई पतियां हमारे कपडे़ खराब कर सकती हैं।
2- पेड़ रात में CO2 बाहर तनकाल देते हैं जो स्वास्थ्य के तलए हातनकारक है



Find the option which should replace (?)

DE : 45 :: BC : ?

(A) 34

(B) 49 

(C) 56 
(D) 43



(A) 3 

(B) 11 

(C) 4 
(D) 6

15 42 18

20 35 33

5 7 ?


